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QUESTION 1

A NetScaler Engineer needs to gather information from a NetScaler VPX before allocating the platform license.
Which shell command could the engineer use to gather the needed information?

A. Imutil Imhostid -user

B. Imutil Imhostid -ether

C. Imutil Imhostid -internet

D. Imutil Imhostid -hostname

Correct Answer: B

QUESTION 2

A network engineer wants to hide the IP address of the outgoing packets by changing it to the IP of the
VIP.

Which feature should the administrator use?

A. ACL

B. PBR

C. RNAT

D. Rewrite

Correct Answer: C

QUESTION 3

Scenario: A website that provides hotel bookings lists each hotel through their membership number on the site URL. For
example, the Martello Tower member ID is 6754 and its web presence is at http://
www.hoteltestwebsite.com/hotels/6754/index.html.

There are 20,000 hotels in the database of the website. The website business owner no longer wants to display the
hotel sites for hotel numbers 1-10000, inclusive. A NetScaler Engineer must configure an appropriate responder page to
indicate that these sites are unavailable.

Which expression will meet the requirements of the business owner?

A. HTTP.REQ.URL.PATH.GET(2).TYPECAST_NUM_T(DECIMAL).BETWEEN(0, 10000)

B. HTTP.REQ.URL.AFTER_STR("hotels"). TYPECAST_NUM_T(DECIMAL).BETWEEN(0, 10000)

C. HTTP.REQ.URL.BEFORE_STR("index.html").TYPECAST_NUM_T(DECIMAL).BETWEEN(0, 10000)
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D. HTTP.REQ.URL.PATH.GET(1).TYPECAST_NUM_T(DECIMAL).GT(0) andand
HTTP.REQ.URL.PATH.GET(1).TYPECAST _NUM_T(DECIMAL).LT(10000)

Correct Answer: A

QUESTION 4

Which NetScaler IP address must a NetScaler Engineer set for management and general system access purposes?
A.NSIP

B. SNIP

C.VIP

D. USNIP

Correct Answer: A

QUESTION 5

Scenario: An engineer needs to configure a monitor to ensure that each server is tested every 10 seconds and requires
that the server pass the test four consecutive times before marking a server as UP. If the test fails, the server should be
marked as down for 60 seconds.

To configure the monitor, the engineer should configure an interval of 10 seconds, down-time of 60 seconds;
as 4; and retries as . (Choose the correct set of options to complete the sentence.)

A. failure retries; 1
B. failure retries; 4
C. success retries; 1
D. success retries; 4

Correct Answer: C
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